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EH (Fermat). p # RW L T 5.
o EEDEE a IZH LT, IRAHD LD,

a’? =a mod p

o p E H\WIZERFER a 1T UT, IRHD LD,

a'=1 modp

o /

. ¢ 1 DHDTEZRT. a=0D L ZIFHSHRDT, a#£02T 5.
a>0D5E%ZRT. TOMEEZEVRULHAWSZ LT, a? i, pEEL LT,

{(a—1)+1}7
(a—1)P+1

aP

{(a—2)+1}7+1
(a—2)P +2

=(a—af+a=a

CEETES. koT, a>00& EIEXFERIRKED.
a<0DHE, b=—al2BFE, b>0ThH53. £oT, LEFEEIZLT, &R

=0 mod p (1)
NEoNd. p=2745, a=—a mod 272DT, HHA (1) ZHWT,
a*>=(—a)=b"=b=—-a=a mod?2
LEHRTE, TROARAANGONDG. p>2745, pEHFHEDT, ¥ =—-a? THD. £o

T, AREX (1) ZHNT,
—a? =V =b=—a modp

PRoNs., ZOARAROmLE -11595 28T, EROARAPFSNSD.
¢ 2DHDFERERT. 0 BMEEORBOBEBEDT, a L pBHWIIKTH D LW E

NS, a0 THDHILIZERETS. 1 2DHOEENLS, RN

a(@®! —1)=0 mod p
NESNDED, a & plEHEWZHEZDT,

a>!'—1=0 modyp
NI ARVASR O
B p 2R, nZARBELT L. ZDLE,

(n+1)=n"+1 modp
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L3ERAIE, https://gleamath.com/binomial-thm-mod-p % 8.



